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Разновидности 
тригонометрических 

уравнений

cos 2𝑥 = 1 − cos
𝜋

2
− 𝑥

cos 2𝑥 + 2 cos 𝑥 + 1

tg 𝑥 − 1
= 0

sin 2𝑥 + 2 sin 𝑥 = 2 cos 𝑥 + 2

6 sin2 𝑥 + 7 cos 𝑥 − 7 = 0

4 cos4 𝑥 − 4 cos2 𝑥 + 1 = 0

(2 sin 𝑥 − 1)( − cos 𝑥 + 1) = 0

15cos 𝑥 = 3cos 𝑥 ∙ 5sin 𝑥

2 log3 2 (2 cos 𝑥) − 5 log3(2 cos 𝑥) + 2 = 0

(tg 𝑥 + 3) log13(2 sin
2 𝑥)

log31( 2 cos 𝑥)
= 0
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3
+ 2𝜋𝑛, 𝑛𝜖𝑍



ЕГЭ 2018. Профильный уровень



ЕГЭ 2018. Профильный уровень



ЕГЭ 2018. Профильный уровень



ЕГЭ 2018. Профильный уровень

Ответ:
𝑥 = 2𝜋𝑛, 𝑛𝜖𝑍

𝑥 =
2𝜋

3
+ 2𝜋𝑛, 𝑛𝜖𝑍

𝑥 = −
2𝜋

3
+ 2𝜋𝑛, 𝑛𝜖𝑍



cos 2𝑥 = cos 𝑥

Ответ:
𝑥 = 2𝜋𝑛, 𝑛𝜖𝑍

𝑥 =
2𝜋

3
+ 2𝜋𝑛, 𝑛𝜖𝑍

𝑥 = −
2𝜋

3
+ 2𝜋𝑛, 𝑛𝜖𝑍



ЕГЭ 2018. Профильный уровень



cos 2𝑥 = cos 𝑥

0 1

1

-1

-1



cos 2𝑥 = cos 𝑥

Ответ:
𝑥 = 2𝜋𝑛, 𝑛𝜖𝑍

𝑥 =
2𝜋

3
+ 2𝜋𝑛, 𝑛𝜖𝑍

𝑥 = −
2𝜋

3
+ 2𝜋𝑛, 𝑛𝜖𝑍



Доказательство:
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0° 30° 45° 60° 90°

sin x

cos x

tg x

ctg x

Быстрый способ вспомнить таблицу значений 
синуса, косинуса, тангенса и котангенса



ЕГЭ 2018. Профильный уровень



ЕГЭ 2018. Профильный уровень



ЕГЭ 2018. Профильный уровень

A

BC

1



ЕГЭ 2018. Профильный уровень

A B

C

1

D



ЕГЭ 2018. Профильный уровень

0 1

1

-1

-1

sin(𝜋 + 𝛼) =

cos 𝜋 − 𝛼 =

sin 𝛼 +
𝜋

2
=

cos 𝛼 −
𝜋

2
=

tan
𝜋

2
− 𝛼 =

tan 𝛼 + 3𝜋 =
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